

A Note on the Transcendental Continued Fractions

Takeshi OKANO

The Saitama Institute of Technology

(Communicated by K. Katase)

Introduction

Let $a_1, a_2, a_3, \dots; b_1, b_2, b_3, \dots$ be all integers and $a_1 \geq 0, a_2 > 0, a_3 > 0, \dots; b_1 \geq 0, b_2 > 0, b_3 > 0, \dots$ all along this note.

In [2], G. Nettler proved the following theorem.

NETTLER'S THEOREM. *For*

$$A = a_1 + \frac{1}{a_2 + \frac{1}{a_3 + \dots}} \quad \text{and} \quad B = b_1 + \frac{1}{b_2 + \frac{1}{b_3 + \dots}},$$

if $a_n > b_n > a_{n-1}^{(n-1)^2}$ for all n sufficiently large, then $A, B, A \pm B, A/B$ and AB are all transcendental numbers.

The aim of this note is to prove the following theorem that is an improvement of Nettler's Theorem.

THEOREM. *For*

$$A = a_1 + \frac{1}{a_2 + \frac{1}{a_3 + \dots}} \quad \text{and} \quad B = b_1 + \frac{1}{b_2 + \frac{1}{b_3 + \dots}},$$

if $a_n > b_n > a_{n-1}^{\gamma(n-1)}$ for all n sufficiently large, then, $A, B, A \pm B, A/B$ and AB are all transcendental numbers, where γ is any constant such that $\gamma > 16$.

We give an elementary proof of this theorem using the method of G. Nettler.

§1. Lemmas.

LEMMA 1. *If*

$$(1) \quad A(n) = a_1 + \frac{1}{a_2} + \frac{1}{a_3} + \cdots + \frac{1}{a_n} = \frac{{}^a P_n}{{}^a Q_n},$$

$$(2) \quad B(n) = b_1 + \frac{1}{b_2} + \frac{1}{b_3} + \cdots + \frac{1}{b_n} = \frac{{}^b P_n}{{}^b Q_n},$$

then, for all $n \geq 1$, we have

$$(3) \quad A(n) + B(n) = a_1 + b_1 + \frac{a_2 + b_2}{a_2 b_2} + \frac{a_2 b_2 F_3}{E_3 - F_3} + \frac{E_3 F_4}{E_4 - F_4} \\ + \frac{E_4 F_5}{E_5 - F_5} + \cdots + \frac{E_{n-1} F_n}{E_n - F_n},$$

$$E_n = {}^a Q_n {}^b Q_n ({}^a Q_{n-2} {}^a Q_{n-1} + {}^b Q_{n-2} {}^b Q_{n-1}),$$

$$F_n = {}^a Q_{n-2} {}^b Q_{n-2} ({}^a Q_{n-1} {}^a Q_n + {}^b Q_{n-1} {}^b Q_n),$$

$$(4) \quad B(n) - A(n) = b_1 - a_1 + \frac{a_2 - b_2}{a_2 b_2} + \frac{a_2 b_2 H_3}{G_3 - H_3} + \frac{G_3 H_4}{G_4 - H_4} \\ + \frac{G_4 H_5}{G_5 - H_5} + \cdots + \frac{G_{n-1} H_n}{G_n - H_n},$$

$$G_n = {}^a Q_n {}^b Q_n ({}^a Q_{n-2} {}^a Q_{n-1} - {}^b Q_{n-2} {}^b Q_{n-1}),$$

$$H_n = {}^a Q_{n-2} {}^b Q_{n-2} ({}^a Q_{n-1} {}^a Q_n - {}^b Q_{n-1} {}^b Q_n),$$

$$(5) \quad \frac{A(n)}{B(n)} = \frac{a_1}{b_1} + \frac{b_1 b_2 - a_1 a_2}{a_2 b_1 (b_1 b_2 + 1)} + \frac{a_2 b_1 (b_1 b_2 + 1) J_3}{I_3 - J_3} + \frac{I_3 J_4}{I_4 - J_4} \\ + \frac{I_4 J_5}{I_5 - J_5} + \cdots + \frac{I_{n-1} J_n}{I_n - J_n},$$

$$I_n = {}^a Q_n {}^b P_n ({}^a Q_{n-2} {}^a P_{n-1} - {}^b Q_{n-2} {}^b P_{n-1}),$$

$$J_n = {}^a Q_{n-2} {}^b P_{n-2} ({}^a Q_n {}^a P_{n-1} - {}^b Q_n {}^b P_{n-1}),$$

$$(6) \quad A(n)B(n) = a_1 b_1 + \frac{a_1 a_2 + b_1 b_2 + 1}{a_2 b_2} + \frac{a_2 b_2 L_3}{K_3 - L_3} + \frac{K_3 L_4}{K_4 - L_4} \\ + \frac{K_4 L_5}{K_5 - L_5} + \cdots + \frac{K_{n-1} L_n}{K_n - L_n},$$

$$K_n = {}^a Q_n {}^b Q_n ({}^a Q_{n-2} {}^a P_{n-1} + {}^b Q_{n-1} {}^b P_{n-2}),$$

$$L_n = {}^a Q_{n-2} {}^b Q_{n-2} ({}^a Q_n {}^a P_{n-1} + {}^b Q_{n-1} {}^b P_n).$$

PROOF. See Theorem 2.1 of [2].

LEMMA 2. *Let*

$$C = e_1 + \frac{d_2}{e_2 + \frac{d_3}{e_3 + \dots}}$$

be the continued fraction expansion, given in Lemma 1, for either $A \pm B$, A/B or AB . And let

$$\frac{{}^c P_n}{{}^c Q_n} = e_1 + \frac{d_2}{e_2 + \frac{d_3}{e_3 + \dots + \frac{d_n}{e_n}}}$$

If $a_n > b_n$ for sufficiently large n , then ${}^c Q_n < {}^a Q_n^\alpha$, where α is any constant such that $\alpha > 8$.

PROOF. From (3), (4), (5) and (6), we have the following inequalities

$${}^c Q_n = e_n {}^c Q_{n-1} + d_n {}^c Q_{n-2} < {}^c Q_{n-1} (d_n + e_n) < \dots < \prod_{i=2}^n (d_i + e_i) < \prod_{i=2}^n {}^a Q_i^\alpha < {}^a Q_n^{\alpha n}$$

for all n sufficiently large.

LEMMA 3. *For the continued fraction*

$$A = a_1 + \frac{1}{a_2 + \frac{1}{a_3 + \dots}}$$

if $a_n > a_{n-1}^{\beta(n-1)}$ for all n sufficiently large, then ${}^a Q_n < a_n^\beta$, where β is any constant such that $\beta > 1$.

PROOF. There is an integer N such that $a_n > a_{n-1}^{\beta(n-1)}$ for all $n \geq N$. We have the following inequalities

$${}^a Q_n < (a_n + 1) {}^a Q_{n-1} < \dots < \prod_{i=N}^n (a_i + 1) {}^a Q_{N-1} = {}^a Q_{N-1} \prod_{i=N}^n \left(1 + \frac{1}{a_i}\right) \prod_{i=N}^n a_i$$

There is a positive number M such that

$${}^a Q_{N-1} \prod_{i=N}^n \left(1 + \frac{1}{a_i}\right) < M$$

Therefore

$$\begin{aligned} {}^a Q_n &< M \prod_{i=N}^n a_i < M a_n^{1+1/(\beta(n-1))+1/(\beta^2(n-1)(n-2))+\dots+1/(\beta^{n-N}(n-1)(n-2)\dots N)} \\ &< M a_n^{1+1/(n-1) \cdot \beta/(\beta-1)} < a_n^\beta \end{aligned}$$

for all n sufficiently large.

§2. Proof of the theorem.

From Lemma 3, we have

$$a_{n+1} > a_n^{\gamma n} > {}^a Q_n^n,$$

and

$$\left| A - \frac{{}^a P_n}{{}^a Q_n} \right| < \frac{1}{{}^a Q_n {}^a Q_{n+1}} < \frac{1}{a_{n+1} {}^a Q_n^2} < \frac{1}{{}^a Q_n^{n+2}},$$

therefore A is a transcendental number. In a similar fashion it can be easily proven that B is also a transcendental number.

Now let

$$A + B = C = e_1 + \frac{d_2}{e_2} + \frac{d_3}{e_3} + \dots$$

and

$$\frac{{}^a P_n}{{}^a Q_n} + \frac{{}^b P_n}{{}^b Q_n} = \frac{{}^c P_n}{{}^c Q_n} \quad \text{for } n \geq 1.$$

Then, for n sufficiently large, we have

$$\begin{aligned} \left| C - \frac{{}^c P_n}{{}^c Q_n} \right| &\leq \left| A - \frac{{}^a P_n}{{}^a Q_n} \right| + \left| B - \frac{{}^b P_n}{{}^b Q_n} \right| \\ &< \frac{1}{{}^a Q_n {}^a Q_{n+1}} + \frac{1}{{}^b Q_n {}^b Q_{n+1}} < \frac{2}{{}^b Q_n {}^b Q_{n+1}} < \frac{1}{b_{n+1}} < \frac{1}{a_n^{\gamma n}}. \end{aligned}$$

Now we choose β so that

$$\beta > 1 \quad \text{and} \quad \frac{\gamma}{\beta} > 16.$$

From Lemma 3, we have

$$a_n^{\gamma n} = a_n^{\beta \cdot (\gamma/\beta)n} > {}^a Q_n^{(\gamma/\beta)n},$$

therefore

$$\left| C - \frac{{}^c P_n}{{}^c Q_n} \right| < \frac{1}{{}^a Q_n^{(\gamma/\beta)n}}.$$

Now we choose α so that

$$8 < \alpha < \frac{\gamma}{2\beta}.$$

From Lemma 2, we have the following inequalities

$$\left| C - \frac{{}^c P_n}{{}^c Q_n} \right| < \frac{1}{({}^a Q_n^{\alpha n})^{\gamma/(\alpha\beta)}} < \frac{1}{{}^c Q_n^{\gamma/(\alpha\beta)}}.$$

Therefore $A+B$ is transcendental by Roth's theorem. Similarly, it can easily be proven that $A-B$ is also a transcendental number.

To prove that A/B is transcendental, let

$$\frac{A}{B} = C = e_1 + \frac{d_2}{e_2} + \frac{d_3}{e_3} + \dots \quad \text{and} \quad \frac{{}^a P_n}{{}^a Q_n} / \frac{{}^b P_n}{{}^b Q_n} = \frac{{}^c P_n}{{}^c Q_n}$$

for $n \geq 1$. As

$$\frac{{}^a P_n}{{}^a Q_n} \leq 2a_1 \quad \text{and} \quad \frac{1}{2b_2} \leq \frac{{}^b P_n}{{}^b Q_n}$$

for $n \geq 3$, we obtain

$$\begin{aligned} \left| C - \frac{{}^c P_n}{{}^c Q_n} \right| &= \left| \frac{A}{B} - \frac{{}^a P_n / {}^a Q_n}{{}^b P_n / {}^b Q_n} \right| \\ &= \frac{\left| \frac{{}^b P_n}{{}^b Q_n} \left(A - \frac{{}^a P_n}{{}^a Q_n} \right) + \frac{{}^a P_n}{{}^a Q_n} \left(\frac{{}^b P_n}{{}^b Q_n} - B \right) \right|}{B({}^b P_n / {}^b Q_n)} \\ &\leq \frac{\left| A - \frac{{}^a P_n}{{}^a Q_n} \right|}{B} + \frac{2a_1 \left| B - \frac{{}^b P_n}{{}^b Q_n} \right|}{B/2b_2} < \frac{4a_1 b_2 + 1}{B} \cdot \frac{1}{{}^b Q_n {}^b Q_{n+1}} < \frac{1}{b_{n+1}} < \frac{1}{{}^c Q_n^{\gamma/(\alpha\beta)}} \end{aligned}$$

for all n sufficiently large which proves that A/B is a transcendental number.

Finally, to prove that AB is transcendental, let

$$AB = C = e_1 + \frac{d_2}{e_2} + \frac{d_3}{e_3} + \dots \quad \text{and} \quad \frac{{}^a P_n}{{}^a Q_n} \cdot \frac{{}^b P_n}{{}^b Q_n} = \frac{{}^c P_n}{{}^c Q_n}$$

for $n \geq 1$. We obtain

$$\begin{aligned} \left| C - \frac{{}^c P_n}{{}^c Q_n} \right| &= \left| AB - \frac{{}^a P_n}{{}^a Q_n} \cdot \frac{{}^b P_n}{{}^b Q_n} \right| \leq \left| A - \frac{{}^a P_n}{{}^a Q_n} \right| B + \frac{{}^a P_n}{{}^a Q_n} \left| B - \frac{{}^b P_n}{{}^b Q_n} \right| \\ &\leq \frac{B}{{}^a Q_n} + \frac{{}^a P_n}{{}^a Q_n} \cdot \frac{1}{{}^b Q_n} \leq (B + 2a_1) \frac{1}{{}^b Q_n} < \frac{1}{b_{n+1}} \end{aligned}$$

for all n sufficiently large. Therefore AB is a transcendental number.

§ 3. Example.

If

$$A = 2^{2^1} + \frac{1}{2^{4^1}} + \frac{1}{2^{8^1}} + \dots + \frac{1}{2^{(2^n)^1}} + \dots$$

and

$$B = 2^{9 \cdot 1^1} + \frac{1}{2^{9 \cdot 3^1}} + \frac{1}{2^{9 \cdot 5^1}} + \dots + \frac{1}{2^{9(2n-1)^1}} + \dots,$$

then A , B , $A \pm B$, A/B and AB are all transcendental numbers.

PROOF. Now we put $a_n = 2^{(2^n)^1}$, $b_n = 2^{9(2n-1)^1}$. First we can see easily that $a_n > b_n$ for $n \geq 5$. And we have

$$\frac{\log b_n}{(n-1)\log a_{n-1}} = \frac{9(2n-1)! \log 2}{(n-1)(2n-2)! \log 2} = \frac{9(2n-1)}{n-1} > 18$$

for $n \geq 2$. Therefore $b_n > a_{n-1}^{18(2n-1)}$ for $n \geq 2$. From the theorem, A , B , $A \pm B$, A/B and AB are all transcendental numbers.

References

- [1] K. F. ROTH, Rational approximation to algebraic numbers, *Mathematika*, **2** (1955), 1-20.
- [2] G. NETTLER, Transcendental continued fractions, *J. Number Theory*, **13** (1981), 456-462.
- [3] P. BUNDSCHUH, Transcendental continued fractions, *J. Number Theory*, **18** (1984), 91-98.

Present Address:

THE SAITAMA INSTITUTE OF TECHNOLOGY
1690, FUSAIJI
OKABE-MACHI, SAITAMA 369-02